UEM FM WR
HZRS WALRING HANSAVFLEX

]

£01 KENRFIRG

-3 APkl BEEF WALRING

- gL BRIEIF, AR, REH
R* M

RERP BERE

31

#x
SN A R TS B 0 A (T ).
UEM WRHEYEE R A ¥ A VOM WR,

B bn 4= 2
REHERAAEN RN ERAEMNMTE T FETAF.
BERERAEDNRBEHEEFHRERMEEEFREEL,

# &
G175

UEM NW 04 FM L WR L PN 500 6 M12x1.5 14,5 14
UEM NW 06 FM L WR L PN 500 8 M14x1.5 14,5 17
UEM NW 08 FM L WR L PN 500 10 M16x 1.5 15,5 19
UEM NW 10 FM L WR L PN 400 12 M18x 1.5 15,5 22
UEM NW 13 FM L WR L PN 400 15 M22x1.5 17,0 27
UEM NW 16 FM L WR L PN 400 18 M26x1.5 18,0 32
UEM NW 20 FM L WR L PN 250 22 M30x2 20,0 36
UEM NW 25 FM L WR L PN 250 28 M 36 x 2 21,0 41
UEM NW 32 FM L WR L PN 250 35 M45x2 24,0 50
UEM NW 40 FM L WR L PN 250 42 M52 x2 24,0 60
UEM NW 03 FM S WR S PN 800 6 M14x1.5 16,5 17
UEM NW 04 FM S WR S PN 800 8 M16x1.5 16,5 19
UEM NW 06 FM S WR S PN 800 10 M18x1.5 17,5 22
UEM NW 08 FM S WR S PN 630 12 M20x 1.5 17,5 24
UEM NW 13 FM S WR S PN 630 16 M24x1.5 20,5 30
UEM NW 16 FM S WR S PN 420 20 M30x2 24,0 36
UEM NW 20 FM S WR S PN 420 25 M 36 x 2 27,0 46
UEM NW 25 FM S WR S PN 420 30 M 42 x 2 29,0 50
UEM NW 32 FM S WR S PN 420 38 M52 x2 32,5 60

SZHURFLL=FER =B S=E - 0d2=EHER

B4

VOMWR FiEfiEs

&4

WD WR A FUEM.WREY B &3

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
15.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



